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UNIVERSITY OF NORTH BENGAL
B.A. Programme 2nd Semester Examination, 2019

DSC2-PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable,
All symbols are of usual significance.
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1. Answer any four questions from the following:
e - srfd eivwa Ber me:
fegvet sreemd % aneem oo R :
(a) What do you mean by copula? What is the function of copula?
RS TS R @ ¢ AT wiw fr g
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(b) Obvert the following: 1
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(i) Roses are red.
CofteTet 23 #fe)
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(ii) Only children are happy.
g At 78
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(¢) Distinguish between mediate and immediate inference,
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(d) Disﬁngtﬁshbetween‘mood'and‘ﬁgum'.
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(e) When an argument is valid?
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2, Answer any four questions from the following: 6x4 =24
(-G 5118 eivwra By wnes

(a) What do You mean by ‘distribution of terms’?  What term/terms  are 2+4
distributed /undistributed in‘A’, ‘gr, op and ‘O’ Propositions?
mmmﬁf«m? ‘A, B, D@ O~ @ ’NW/W’UW
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(b) Explain ‘Contrary’ ang ‘Contmdicl:ory’ opposition of Propositions with example, 3+3
R g ﬁnﬁzaﬂmmﬁqu

(¢) Explain in brief the fallacy of Illjcjt Minor and I1ljcit Major with examples, 3+3

(d) Determine the validity or invalidity of the following arguments with the help of 3+3
enn diagram:

(i) EAO 4th Figure
EAO- 5g¢ e
EAO —4th Figure
(ii) OAO 2nd Figure,
OAO- &8y ey
OAO -2nd Figure.

(e) What is ‘Conversion’? Why conversion of ‘Qy Proposition is not possible? 2+4
RS e 30 9 mmmwmr
'W%s‘r?m‘o'wﬁmmmﬁa?

(9 Distinguish between Deductive and Inductive arguments with example, 6
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Answer any two questions from the following 12x2=24
e c-cam 716 evew Taa we
RrTeT FrEETE G GEIT) SR IO
3. Determine the validity or invalidity of the following argument/argument forms 3x4=12
with the help of syllogistic rules:
Torarors sicea foaw e e 1 / Y- B (et / Stare! R s

Pt Fre GEEE SN RIUE 7% X a@-SuEes) due ¥ s Pt
TR |
(a) Shyam is mortal because he is a man.
Tal SR, T T W |
o worEE B e S w8
(b) He must be happy for he is honest.
5 SRR R IRy T A
FAFER @ 8 & g |
(c) AAlin st Figure
AAL -2i93 RE[F |
AAI -Her W& Bt
(d) AIE in 3rd Figure.
AIE-87 |
AIE-391 S 81|

4. Use Truth table to determine the validity or invalidity of the following arguments: ~ 3x4 = 12

1o e FrfiRe et tawe! / stae! Rom 39
fogu adwes! duar ar e et WeI—wRi@ SR THE —

(a) ~A>~B
~BoC/ ~~(A-~C)

(b)) Mo (N-0)
~M /. ~(N-0)

() p>oq
q/..p

(d) Either Ramesh is a doctor or a teacher. He is not a doctor, therefore, he is a
teacher.
A O B P | (7 SITA T, A G e
T Taex uf 8 s e ofy €1 § sy B, o S e )
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5. What is existential import of proposition? Does all standard form of categorical 2410
propositions have existential import? Explain with examples,

mwﬁwwmﬁmﬁmymﬂmvmmwm«fm
& o T e w21 ;

6. What is an analogical argument? What are the different criteria in the appraisal of 2+10
analogical argument?

WWW&M?WWWW‘ﬁﬁﬁ?

Wgﬁsmﬁﬁgﬁw?mgﬁrﬁwﬁ
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2076 4



1

UG/CBCS/B.A./Hons./2nd SemJPllluoply/l’mcmow

UNIVERSITY OF NORTH BENGAL
B.A. Honours 2nd Semester Examination, 2019

GE2-PHILOSOPHY

WESTERN (Locic)
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate fuil marks,
Candidates should answer in their own words and adhere 10 the word limit as practicable.
All symbals are of usual significance.

SECTION-1

1. Answer any four questions from the following: 3x4=12
(a) Distinguish between figure and mood. 3
(b) What do you mean by inductive generalization? 3
(¢) Is categorical syllogism a deductive argument? Why? 3
(d) What do you mean by class? 3
(e) What do you mean by existential fallacy? 3
(f) Transform the following into standard-form categorical propositions: 1x3=3

(i) Roses are fragrant
(i) Only members can use the front door
(iii) All that glitters is not gold.

SECTION-11
2, Answer any four questions from the following: 6x4=24
(a) Determine the validity or invalidity of the following by syllogistic rules. 3+3=6

(i) NoMissS. So, some S'is P, Since some P is not M.
(ii) He knows his own son; so he must be a wise father,

(b) Explain the fallacy of undistributed middle with example. 6

(c) What is meant by ‘existential import’ of Proposition? Explain with 6
illustration.

(d) What is obersion? Obvert the following: 242+2=6
(i) Only children are happy
(ii) Reporters are present.
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(e) Use truth table to determine the following statements form as tautology, self-
contradictory or contingent.
(@) [Po(>o9log
(ii) p=(p-(@>p)
(f) Distinguish between deduction and induction, with examples.

SECTION-III

3. Answer any fwo questions from the following:

(a) What do you mean by distribution of term? Which term/terms is/are
distributed in which proposition? Reduce the following sentences into logical
propositions and show which term/terms is/are distributed.

(i) All people desire recognition
(ii) Some people drink.

(b) Determine the validity and invalidity of the following arguments with the help
of Venn diagram.

(i) Some parrots are not pests. All parrots are pets; therefore, no pets are
pests.

(ii) All puzzles-lovers are bridge players. Since not all women are puzzle-
lovers, and some women are bridge-players.

(iii) EAE-1st Figure.
(c) Use truth table to determine the validity or invalidity of the following
arguments:
(i) EoF
FSE /.. EvF
(i) KvL
K /:.~L

(iii) If Albania manages to free itself from Chinese influence then both
Bulgaria and Czechoslovakia will adopt more liberal policies. But
Bulgaria will not adopt a more liberal policy. Therefore, Albania will not
manage to free itself from Chinese influence.

(d) What is opposition of proposition? Explain and illustrate different kinds of
opposition of proposition.

2075 2
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CC3-PHILOSOPHY

WESTERN PHILOSOPHY-I
Time Allotted: 2 Hours

The figures in the margin indicate full marks.

Full Marks: 60

Candidates should answer in their own words and adhere to the word limit as practicable.

All symbols are of usual significance.

SECTION-I
1. Answer any four of the following:
(a) Is Descartes’ method of doubt provisional or final?
(b) What is monad?
(c) What is attribute according to Spinoza?
(d) What are different types of cause according to Aristotle?
(¢) What is meant by Socratic method of knowledge?
(f) What is justice according to Plato?

SECTION-II
2. Answer any four of the following:
(a) Distinguish between potentiality and actuality following Aristotle.

(b) Discuss Descartes’ interactionism as a theory about mind-body relation.

(c) Discuss in brief Spinoza’s notion of “Intellectual love of God™.
(d) What are the “duties of guardian” as discussed in Plato’s Republic?
(e) “Virtue is knowledge” — Who says this and why?

(f) What are “truths of fact” and “truths of reason” according to Leibnitz?

SECTION-III

3. Answer any fwe of the following:
(a) Give a detailed account of Aristotle’s doctrine of Form and Matter.
(b) Explain and examine Spinoza’s conception of substance.

(c) How does Descartes arrive at his first principle “Cogito ergo sum”™? Discuss.

3x4=12

w W W www

6x4 =24

oS

12x2=24
12
12
12

(d) What are the three parts of soul according to Plato? How are they developed in ~ 4+8=12

different characters on which the structure of society is based?

————
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CC4-PHILOSOPHY

ETHICS
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

All symbols are of usual significance.
SECTION-I

1. Answer any four of the following: 3x4=12
(a) Give the definitions of ethics after Prof. Mackenzie. 3
(b) What is meant by Statement of Value? Give example. 2+1=3
(c) State the moral standard propounded by J. S. Mill. * 3
(d) What is Triratna according to Jainism? 3
(e) What is the meaning of the Vedic Rra? 3
(f) What do you mean by the Categorical Imperative? 3

SECTION-II
2 Answer any four of the following: 6x4 =24
(a) Explain the scope of ethics. 6
(b) Explain freedom of will as postulate of morality. 6
(c) Give a brief account of virtue ethics of Aristotle. 6
(d) “Good will is good in itself” — Explain after Kant. 6
(e) What are four ends of human life (Purusarthas)? Explain all of them. 6
(f) Explain the object of moral judgement. 6

SECTION-II
3. Answer any fwo of the following: 12x2=24

(a) How do. you distinguish moral actions from non-moral actions? Describe the  6+6=12
different types of non-moral actions.

(b) Explain the eight-fold path of Buddhism. 12
{(c) What is utilitarianism? Explain Bentham’s theory of Gross utilitarianism. 2+10=12
(d) What are different theories of punishment? Explain and examine the Retributive 2+10=12
theory of punishment.
——
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